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fo f(t)cos(x —t)dt = p(x)
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(1) f(0) = p’(0) %5
(2) f'(x)=p(x) + p”"(x) 2wt
(3] filx) 2z kL.

B f: f(t) cos (x-t)dt = P(x) & [: f(t) - (cos X cost + sin X sint) dt = P(x)
& ocosx [:f(t)cost dt + sinxrC ftysint dt = P(x) * 0 %)
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-5in X I:ﬂr) cost dt + cos-F(x)cos5% +cos xfxf'('r)s.'n't dt +sinx-fosinx = p(x)
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o (cos?x +sinx) f(x) = sin If:'f('t) cost df + cosx Sx f(t)sint dt = plw)
o
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SF(e) = sinx [0 f(t) cost dt + cos x go ftty sint dt = plxy  --- (¥%)
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fo = cosx j.cr T cost dt = sinX- fcosx -sinxL f(t) sint dt +cosx-Ffsinx = P”(I)
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- Flo —{ cosxfo ft) cost dt + sme Fet) sint dt } = P
e &y, flo=pe+ P

(3 Px) = xe** &, pPla) = e+ x-2%* = (2x+1)€**
Py = 2e¥* + (2x+1)-26* = 4(x+1)e**
s PP = (Ex+4-)€u
@5y, flo= Gx+4)e? o fo = 5[xe? dx +4{e* dx
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